

DISTRICT 6 16166J NON-FEDERAL

PROJECT: DISTRICT 6

STATE PROJECT NUMBER: 16166J

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN: February 25, 2021,

SCOPE OF WORK: Resurfacing various tier 2, 3, and 4 roadways in District 6.

COMPLETION DATE: September 24, 2021 LOCATION: Rockingham, Strafford

Awarded To: CONTINENTAL PAVING INC

1 CONTINENTAL DRIVE LONDONDERRY, NH 03053

Amount: \$2,380,543.83

Award Date:

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
CONTINENTAL PAVING INC	\$2,380,543.83	Α
1 CONTINENTAL DRIVE, LONDONDERRY NH 03053		
PIKE INDUSTRIES, INC.	\$2,748,454.56	В
3 EASTGATE PARK ROAD, BELMONT NH 03220		
BROX INDUSTRIES, INC.	\$3,097,933.84	С
1471 METHUEN STREET, DRACUT MA 01826		



DISTRICT 6 16166J NON-FEDERAL

				ı	PS&E	1 CONTIN	AL PAVING INC ENTAL DRIVE ERRY, NH 03053	3 EASTGAT	STRIES, INC. E PARK ROAD T, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

	·								
203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$40.00	\$4,000.00	\$40.00	\$4,000.00	\$50.00	\$5,000.00
206.1	COMMON STRUCTURE EXCAVATION	CY	2.30	\$300.00	\$690.00	\$500.00	\$1,150.00	\$1,500.00	\$3,450.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	3,011.70	\$18.00	\$54,210.60	\$22.00	\$66,257.40	\$35.00	\$105,409.50
403.11023	HBP-BINDER, MM	TON	456.50	\$75.00	\$34,237.50	\$70.00	\$31,955.00	\$80.00	\$36,520.00
403.11043	HBP-1/2" WEARING, MM	TON	30.10	\$75.00	\$2,257.50	\$70.00	\$2,107.00	\$200.00	\$6,020.00
403.11053	HBP-3/8" WEARING, MM	TON	1,950.80	\$75.00	\$146,310.00	\$70.00	\$136,556.00	\$70.00	\$136,556.00
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	2,166.90	\$82.00	\$177,685.80	\$78.00	\$169,018.20	\$75.00	\$162,517.50
403.11953	HBP-3/8" WEARING, MM, HIGH STRENGTH	TON	4,692.80	\$82.00	\$384,809.60	\$78.00	\$366,038.40	\$78.00	\$366,038.40
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	66.00	\$125.00	\$8,250.00	\$130.00	\$8,580.00	\$150.00	\$9,900.00
403.16	PAVEMENT JOINT ADHESIVE	LF	54,994.00	\$0.23	\$12,648.62	\$0.23	\$12,648.62	\$0.30	\$16,498.20
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	6,397.30	\$1.50	\$9,595.95	\$1.75	\$11,195.28	\$4.50	\$28,787.85
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	14,119.00	\$3.50	\$49,416.50	\$3.50	\$49,416.50	\$4.00	\$56,476.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	12,119.90	\$74.00	\$896,872.60	\$68.00	\$824,153.20	\$74.00	\$896,872.60
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,025.00	\$82.00	\$84,050.00	\$75.00	\$76,875.00	\$80.00	\$82,000.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	55,045.00	\$2.00	\$110,090.00	\$1.50	\$82,567.50	\$3.00	\$165,135.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	5,914.00	\$2.00	\$11,828.00	\$2.00	\$11,828.00	\$2.25	\$13,306.50
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	260.00	\$100.00	\$26,000.00	\$108.75	\$28,275.00	\$108.75	\$28,275.00
604.0007	POLYETHYLENE LINER	EA	53.00	\$150.00	\$7,950.00	\$125.00	\$6,625.00	\$135.00	\$7,155.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	43.00	\$450.00	\$19,350.00	\$400.00	\$17,200.00	\$600.00	\$25,800.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	1.00	\$456.56	\$456.56	\$450.00	\$450.00	\$600.00	\$600.00
604.72	GRATES & FRAMES, TYPE B	EA	10.00	\$690.00	\$6,900.00	\$550.00	\$5,500.00	\$800.00	\$8,000.00
608.2401	4" CONCRETE SIDEWALK	SY	21.90	\$65.00	\$1,423.50	\$75.00	\$1,642.50	\$125.00	\$2,737.50
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	4.70	\$425.00	\$1,997.50	\$450.00	\$2,115.00	\$500.00	\$2,350.00
609.01	STRAIGHT GRANITE CURB	LF	15.80	\$75.00	\$1,185.00	\$50.00	\$790.00	\$100.00	\$1,580.00

Tuesday, March 2, 2021



					PS&E	1 CONTIN	TAL PAVING INC IENTAL DRIVE ERRY, NH 03053	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
609.5	RESET GRANITE CURB	LF	14.20	\$35.00	\$497.00	\$45.00	\$639.00	\$75.00	\$1,065.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	26.00	\$1,250.00	\$32,500.00	\$950.00	\$24,700.00	\$1,100.00	\$28,600.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	14,800.00	\$1.00	\$14,800.00	\$1.00	\$14,800.00	\$1.00	\$14,800.00
618.7	FLAGGERS	HR	1,270.00	\$40.00	\$50,800.00	\$40.00	\$50,800.00	\$37.00	\$46,990.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$100,000.00	\$100,000.00	\$25,000.00	\$25,000.00	\$75,000.00	\$75,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,500.00	\$5,000.00	\$1,500.00	\$3,000.00	\$2,500.00	\$5,000.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	97.70	\$8.00	\$781.60	\$15.00	\$1,465.50	\$15.00	\$1,465.50
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	981,109.00	\$0.18	\$176,599.62	\$0.19	\$186,410.71	\$0.19	\$186,410.71
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	17,963.00	\$0.22	\$3,951.86	\$0.24	\$4,311.12	\$0.24	\$4,311.12
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	5,155.00	\$2.00	\$10,310.00	\$2.00	\$10,310.00	\$0.80	\$4,124.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	446.00	\$4.00	\$1,784.00	\$10.00	\$4,460.00	\$3.60	\$1,605.60
632.1124	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE 24" LINE	LF	75.60	\$7.36	\$556.42	\$10.00	\$756.00	\$4.80	\$362.88
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	2,233.00	\$2.00	\$4,466.00	\$2.00	\$4,466.00	\$2.00	\$4,466.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	507.00	\$2.50	\$1,267.50	\$2.50	\$1,267.50	\$2.50	\$1,267.50
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8"	LF	83.00	\$350.00	\$29,050.00	\$4.00	\$332.00	\$4.00	\$332.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12"	LF	1,182.00	\$3.60	\$4,255.20	\$5.00	\$5,910.00	\$5.00	\$5,910.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18"	LF	446.00	\$5.34	\$2,381.64	\$8.00	\$3,568.00	\$8.00	\$3,568.00
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	73.00	\$1.25	\$91.25	\$12.00	\$876.00	\$12.00	\$876.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	922.00	\$10.00	\$9,220.00	\$9.00	\$8,298.00	\$9.00	\$8,298.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	402.00	\$1.00	\$402.00	\$1.00	\$402.00	\$2.00	\$804.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	73.00	\$2.50	\$182.50	\$4.00	\$292.00	\$5.00	\$365.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	344.10	\$4.00	\$1,376.40	\$4.00	\$1,376.40	\$2.00	\$688.20
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	11.60	\$50.00	\$580.00	\$100.00	\$1,160.00	\$100.00	\$1,160.00
692.	MOBILIZATION	U	1.00	\$110,000.00	\$110,000.00	\$25,000.00	\$25,000.00	\$100,000.00	\$100,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00

New Hampshire Department of Transportation

ABC Bid Data

					PS&E		CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03053		USTRIES, INC. TE PARK ROAD NT, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
		•			£2 C07 0C0 22	1	£2 200 E42 02	\$2.740.454.5C	

Totals:	\$2,697,068.22	\$2,380,543.83	\$2,748,454.56
Alt. Totals:			
Totals:	\$2,697,068.22	\$2,380,543.83	\$2,748,454.56



DISTRICT 6 16166J NON-FEDERAL

				ı	°S&E	1471 MET	USTRIES, INC. HUEN STREET T, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$40.00	\$4,000.00	\$15.00	\$1,500.00	
206.1	COMMON STRUCTURE EXCAVATION	CY	2.30	\$300.00	\$690.00	\$1,500.00	\$3,450.00	
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	3,011.70	\$18.00	\$54,210.60	\$35.00	\$105,409.50	
403.11023	HBP-BINDER, MM	TON	456.50	\$75.00	\$34,237.50	\$80.00	\$36,520.00	
403.11043	HBP-1/2" WEARING, MM	TON	30.10	\$75.00	\$2,257.50	\$215.00	\$6,471.50	
403.11053	HBP-3/8" WEARING, MM	TON	1,950.80	\$75.00	\$146,310.00	\$77.00	\$150,211.60	
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	2,166.90	\$82.00	\$177,685.80	\$82.00	\$177,685.80	
403.11953	HBP-3/8" WEARING, MM, HIGH STRENGTH	TON	4,692.80	\$82.00	\$384,809.60	\$83.00	\$389,502.40	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	66.00	\$125.00	\$8,250.00	\$215.00	\$14,190.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	54,994.00	\$0.23	\$12,648.62	\$0.35	\$19,247.90	
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	6,397.30	\$1.50	\$9,595.95	\$3.25	\$20,791.23	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	14,119.00	\$3.50	\$49,416.50	\$5.50	\$77,654.50	
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	12,119.90	\$74.00	\$896,872.60	\$80.00	\$969,592.00	
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,025.00	\$82.00	\$84,050.00	\$85.00	\$87,125.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	55,045.00	\$2.00	\$110,090.00	\$4.20	\$231,189.00	
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	5,914.00	\$2.00	\$11,828.00	\$5.00	\$29,570.00	
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	260.00	\$100.00	\$26,000.00	\$110.00	\$28,600.00	
604.0007	POLYETHYLENE LINER	EA	53.00	\$150.00	\$7,950.00	\$115.00	\$6,095.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	43.00	\$450.00	\$19,350.00	\$400.00	\$17,200.00	
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	1.00	\$456.56	\$456.56	\$400.00	\$400.00	
604.72	GRATES & FRAMES, TYPE B	EA	10.00	\$690.00	\$6,900.00	\$700.00	\$7,000.00	
608.2401	4" CONCRETE SIDEWALK	SY	21.90	\$65.00	\$1,423.50	\$125.00	\$2,737.50	
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	4.70	\$425.00	\$1,997.50	\$500.00	\$2,350.00	
609.01	STRAIGHT GRANITE CURB	LF	15.80	\$75.00	\$1,185.00	\$100.00	\$1,580.00	

Tuesday, March 2, 2021



					PS&E	1471 MET	DUSTRIES, INC. HUEN STREET IT, MA 01826		
l	5			Unit Price Total Ur		Half Balan Takal			I=
Item No. 609.5	Description RESET GRANITE CURB	Unit	Quantity	\$35.00	\$497.00	Unit Price \$75.00	Total \$1,065.00	Unit Price	Total
			14.20						
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	26.00	\$1,250.00	\$32,500.00	\$1,000.00	\$26,000.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	14,800.00	\$1.00	\$14,800.00	\$1.00	\$14,800.00		
618.7	FLAGGERS	HR	1,270.00	\$40.00	\$50,800.00	\$40.00	\$50,800.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$100,000.00	\$100,000.00	\$160,000.00	\$160,000.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,500.00	\$5,000.00	\$4,000.00	\$8,000.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	97.70	\$8.00	\$781.60	\$11.00	\$1,074.70		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	981,109.00	\$0.18	\$176,599.62	\$0.19	\$186,410.71		
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	17,963.00	\$0.22	\$3,951.86	\$0.26	\$4,670.38		
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	5,155.00	\$2.00	\$10,310.00	\$1.00	\$5,155.00		
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	446.00	\$4.00	\$1,784.00	\$3.50	\$1,561.00		
632.1124	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE 24" LINE	LF	75.60	\$7.36	\$556.42	\$5.00	\$378.00		
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	2,233.00	\$2.00	\$4,466.00	\$0.65	\$1,451.45		
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	507.00	\$2.50	\$1,267.50	\$1.25	\$633.75		
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	83.00	\$350.00	\$29,050.00	\$1.35	\$112.05		
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	1,182.00	\$3.60	\$4,255.20	\$4.05	\$4,787.10		
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	446.00	\$5.34	\$2,381.64	\$6.00	\$2,676.00		
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	73.00	\$1.25	\$91.25	\$7.95	\$580.35		
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	922.00	\$10.00	\$9,220.00	\$6.95	\$6,407.90		
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	402.00	\$1.00	\$402.00	\$0.65	\$261.30		
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	73.00	\$2.50	\$182.50	\$1.65	\$120.45		
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	344.10	\$4.00	\$1,376.40	\$1.65	\$567.77		
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	11.60	\$50.00	\$580.00	\$30.00	\$348.00		
692.	MOBILIZATION	U	1.00	\$110,000.00	\$110,000.00	\$150,000.00	\$150,000.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		

New Hampshire Department of Transportation

ABC Bid Data

				ı	PS&E		USTRIES, INC. HUEN STREET T, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00		
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00		
			Totals:		\$2,697,068.22		\$3,097,933.84		

Totals:	\$2,697,068.22	\$3,097,933.84	
Alt. Totals:			
Totals:	\$2,697,068.22	\$3,097,933.84	



				A-Bide	der	PS8	λЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$40.00	\$4,000.00	\$40.00	\$4,000.00	\$0.00
206.1	COMMON STRUCTURE EXCAVATION	CY	2.30	\$500.00	\$1,150.00	\$300.00	\$690.00	\$460.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	3,011.70	\$22.00	\$66,257.40	\$18.00	\$54,210.60	\$12,046.80
403.11023	HBP-BINDER, MM	TON	456.50	\$70.00	\$31,955.00	\$75.00	\$34,237.50	(\$2,282.50)
403.11043	HBP-1/2" WEARING, MM	TON	30.10	\$70.00	\$2,107.00	\$75.00	\$2,257.50	(\$150.50)
403.11053	HBP-3/8" WEARING, MM	TON	1,950.80	\$70.00	\$136,556.00	\$75.00	\$146,310.00	(\$9,754.00)
403.11943	HBP-1/2" WEARING, MM, HIGH STRENGTH	TON	2,166.90	\$78.00	\$169,018.20	\$82.00	\$177,685.80	(\$8,667.60)
403.11953	HBP-3/8" WEARING, MM, HIGH STRENGTH	TON	4,692.80	\$78.00	\$366,038.40	\$82.00	\$384,809.60	(\$18,771.20)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	66.00	\$130.00	\$8,580.00	\$125.00	\$8,250.00	\$330.00
403.16	PAVEMENT JOINT ADHESIVE	LF	54,994.00	\$0.23	\$12,648.62	\$0.23	\$12,648.62	\$0.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	6,397.30	\$1.75	\$11,195.28	\$1.50	\$9,595.95	\$1,599.33
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	14,119.00	\$3.50	\$49,416.50	\$3.50	\$49,416.50	\$0.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	12,119.90	\$68.00	\$824,153.20	\$74.00	\$896,872.60	(\$72,719.40)
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,025.00	\$75.00	\$76,875.00	\$82.00	\$84,050.00	(\$7,175.00)



DISTRICT 6 16166J NON-FEDERAL

Item No.	Description		Quantity	A-Bidder		PS&E		
		Unit		Unit Price	Total	Unit Price	Total	A-PS&E Difference
417.	COLD PLANING BITUMINOUS SURFACES	SY	55,045.00	\$1.50	\$82,567.50	\$2.00	\$110,090.00	(\$27,522.50)
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	5,914.00	\$2.00	\$11,828.00	\$2.00	\$11,828.00	\$0.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	260.00	\$108.75	\$28,275.00	\$100.00	\$26,000.00	\$2,275.00
604.0007	POLYETHYLENE LINER	EA	53.00	\$125.00	\$6,625.00	\$150.00	\$7,950.00	(\$1,325.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	43.00	\$400.00	\$17,200.00	\$450.00	\$19,350.00	(\$2,150.00)
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	1.00	\$450.00	\$450.00	\$456.56	\$456.56	(\$6.56)
604.72	GRATES & FRAMES, TYPE B	EA	10.00	\$550.00	\$5,500.00	\$690.00	\$6,900.00	(\$1,400.00)
608.2401	4" CONCRETE SIDEWALK	SY	21.90	\$75.00	\$1,642.50	\$65.00	\$1,423.50	\$219.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	4.70	\$450.00	\$2,115.00	\$425.00	\$1,997.50	\$117.50
609.01	STRAIGHT GRANITE CURB	LF	15.80	\$50.00	\$790.00	\$75.00	\$1,185.00	(\$395.00)
609.5	RESET GRANITE CURB	LF	14.20	\$45.00	\$639.00	\$35.00	\$497.00	\$142.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	26.00	\$950.00	\$24,700.00	\$1,250.00	\$32,500.00	(\$7,800.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	14,800.00	\$1.00	\$14,800.00	\$1.00	\$14,800.00	\$0.00
618.7	FLAGGERS	HR	1,270.00	\$40.00	\$50,800.00	\$40.00	\$50,800.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$25,000.00	\$25,000.00	\$100,000.00	\$100,000.00	(\$75,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,500.00	\$3,000.00	\$2,500.00	\$5,000.00	(\$2,000.00)

Tuesday, March 2, 2021 Page 9 of 11



DISTRICT 6 16166J NON-FEDERAL

Item No.	Description	Unit		A-Bidder		PS&E		
			Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
628.2	SAWED BITUMINOUS PAVEMENT	LF	97.70	\$15.00	\$1,465.50	\$8.00	\$781.60	\$683.90
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	981,109.00	\$0.19	\$186,410.71	\$0.18	\$176,599.62	\$9,811.09
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	17,963.00	\$0.24	\$4,311.12	\$0.22	\$3,951.86	\$359.26
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	5,155.00	\$2.00	\$10,310.00	\$2.00	\$10,310.00	\$0.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE		446.00	\$10.00	\$4,460.00	\$4.00	\$1,784.00	\$2,676.00
632.1124	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE 24" LINE	LF	75.60	\$10.00	\$756.00	\$7.36	\$556.42	\$199.58
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	2,233.00	\$2.00	\$4,466.00	\$2.00	\$4,466.00	\$0.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	507.00	\$2.50	\$1,267.50	\$2.50	\$1,267.50	\$0.00
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	83.00	\$4.00	\$332.00	\$350.00	\$29,050.00	(\$28,718.00)
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	1,182.00	\$5.00	\$5,910.00	\$3.60	\$4,255.20	\$1,654.80
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	446.00	\$8.00	\$3,568.00	\$5.34	\$2,381.64	\$1,186.36
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	73.00	\$12.00	\$876.00	\$1.25	\$91.25	\$784.75
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	922.00	\$9.00	\$8,298.00	\$10.00	\$9,220.00	(\$922.00)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	402.00	\$1.00	\$402.00	\$1.00	\$402.00	\$0.00

Tuesday, March 2, 2021 Page 10 of 11



DISTRICT 6 16166J NON-FEDERAL

Item No.	Description			A-Bidder		PS&E		
		Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	73.00	\$4.00	\$292.00	\$2.50	\$182.50	\$109.50
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	344.10	\$4.00	\$1,376.40	\$4.00	\$1,376.40	\$0.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	11.60	\$100.00	\$1,160.00	\$50.00	\$580.00	\$580.00
692.	MOBILIZATION	U	1.00	\$25,000.00	\$25,000.00	\$110,000.00	\$110,000.00	(\$85,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00

Total: \$2,380,543.83 \$2,697,068.22 (\$316,524.39)

Tuesday, March 2, 2021 Page 11 of 11